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The 13™ Hong Kong Mathematics Challenge
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O% How much does the following hexagon coloring take up in o

the whole picture?

A. 0.2

% B. 0.25

C. 0.5
@ D. 0.75 m
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How many Chinese characters are symmetrical? -
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> According to the figure below, what is the price of -

carrots per kilogram?
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The average age of the seven children is 9.8
years old. After 7 years, what is their average

age’?
A. fR¥IFA%E Stay the same
B. 18I0t Increase by seven years
% C. #87015% Increase by 1 year
D. #)AfE Uncertain %

C -
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1.D
2. A
3.D
4. B
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